Process eve Yy WYYy
Misid. jets 918 £ 23 (stat) == 180 (syst) 1441 + 27 (stat) &£ 280 (syst)
Misid. electrons 669 =+ 28 (stat) £ 34 (syst) 107 £ 9 (stat) = 7 (syst)
Others 217 £ 11 (stat) &= 20 (syst) 286 £ 11 (stat) &= 25 (syst)
Total backgrounds 1804 + 38 (stat) £ 180 (syst) 1834 + 30 (stat) = 280 (syst)
Expected signal 248 £ 6 (stat) = 17 (syst) 500 £ 8 (stat) &= 33 (syst)
Total prediction 2052 4 38 (stat) &= 180 (syst) 2334 4 31 (stat) = 280 (syst)
Data 1987 2384
Process eeyy UUYY
Misid. jets 42 £ 4 (stat) £ 9 (syst) 98 £ 5 (stat) £ 27 (syst)
Others 6 = 1 (stat) == 1 (syst) 11 =2 (stat) == 1 (syst)
Total backgrounds 48 £ 4 (stat) £ 9 (syst) 109 £ 6 (stat) 4= 27 (syst)
Expected signal 68 + 2 (stat) == 5 (syst) 157 £ 3 (stat) == 11 (syst)
Total prediction 116 + 4 (stat) = 8 (syst) 266 £ 6 (stat) £ 23 (syst)
Data 110 272



